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#include <SPI.h>

#include <Ethernet.h>

#include <HttpClient.h>

#include <SoftwareSerial.h>

#define win 20 // window of running average

SoftwareSerial mySerial(5, 6); // RX, TX

byte mac[] = { 0x90, 0xA2, 0XDA, OxOE, 0xC4, OxE7 }
EthernetClient client;

float arrrate[win], arrvoltfwin], arrtemp[win], arr

String mrate, mvolt, mtemp, mfeld; // in case of er

int nrval = 1,
float * push(float *arr, float val) {
int i
for (i=win-1; i>0; i--)
arrfi]=arr[i-1];
arr[0]=val;

float mean(float *arr) {

float m = 0;
inti;
for (i=0; i<win; i++)
m += arr[i];
return (m/win);
}
void setup() {
inti;

Serial.begin(9600);
while (Ethernet.begin(mac) != 1)

Serial.printin("Error getting IP address via DH
delay(15000);
}

mySerial.begin(4800);
Serial.printin("waiting for data...");
for (i=0; i<win; i++) arrrate[i]=0;

}

void loop() {
char buf[40];
char cc;
intn=0;
char *actval,
char *prevval;
char *volt;
char *temp;
char *field,;
char *valnr;
String getstr;
String strrate, strvolt, strtemp, strfeld;
float fltrate, fltvolt, flttemp, fltfeld;

do {
} while (ImySerial.available());
cc=mySerial.read();
while (cc !="\n"){
buf[n]=cc;
n++;
do {
} while (ImySerial.available());
cc=mySerial.read();

}

buf[n]="\0",
Serial.printin(buf);
n=0;

buf[6]="\0";
actval=buf;

2 @+% ¢

feld[win];
ror these values must survive

CP, trying again...");
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buf{13]="0";
prevval=buf+7;
buf[17]="0";
volt=buf+14;
buf[22]="0";
temp=buf+19;
buf[27]="0";
field=buf+25;
buf[31]="0";
valnr=buf+29;

volt[

1] = volt[2]; // remove decimal point;
volt[2]

="0"
Serial.printin(actval);
Serial.printin(prevval);
Serial.printin(volt);
Serial.printin(temp);
Serial.printin(field);
Serial.printin(valnr);
strrate = String(actval);
strvolt = String(volt);
strtemp = String(temp);
strfeld = String(field);
fitfeld = float(strfeld.toInt());

if (buf[0] !="E") { //only calc new mean for the se parms if no error
fltrate = float(strrate.tolnt());
fltvolt = float(strvolt.toInt());
flttemp = float(strtemp.toint());
push(arrrate, fltrate*10);
mrate = String(int(mean(arrrate)));
push(arrvolt, fltvolt*10);
mvolt = String(int(mean(arrvolt)));
push(arrtemp, flttemp*10);
mtemp = String(int(mean(arrtemp)));

push(arrfeld, fitfeld); // in case of error feld =0, mean is valid

mfeld = String(int(mean(arrfeld)));

if ((nrval % win) == 0) { //send only on average pe running average window
Serial.printin("\nStarting connection to server R
//if you get a connection, report back via seri al:

if (client.connect("www.opengeiger.de"”, 80)) {
Serial.printin("connected to server");
/I Make a HTTP request:
getstr = <Aufruf Serverseitiges php Skript mi t Parametern>
client.printin(getstr);
client.printin("Host: www.opengeiger.de");
client.printin("Connection: close");
client.printin();
Serial.printin(getstr);
Serial.printin("Done.");
Serial.printin("Disconnecting.");
client.stop();

else {// you didn't get a connection to the se rver
Serial.printin("No connection to server");

}

nrval++;

}



